


AB Inflatable Boats
January 1, 2008
Leisure Series Commercial Boats

Navigo - Open Tenders

Navigo, our line of open tenders, are the most spacious dinghies on the market, due to the boats' unique design charac-
teristics, which are often imitated but never duplicated.

Navigo boats provide all the features you expect in a top-quality tender: largest internal area on the market, easy plan-
ing and balanced design ratios; hulls with built-in stringers for enhanced performance and durability; non-skid fibreglass

decks for improved safety; the most interior space of any comparable boat line on the market; and a raised bow and

large-diameter tubes for a dry and comfortable ride.

Navigo boats have features that every boater wants, the quality workmanship that our customers have come to expect,
and those extra details that our most discriminating customers demand. Whether you are a cruising sailor or keep your
boat on a mooring, Navigo boats were made for you.

Standard features include:

* Bow Eye

* Bow Stowage Hatch

* Four Davit Lifting Points

* Hand Laid Fiberglass Hull

* Hand Pump

» Heavy Duty Double Rub Rail

* Heavy Rubber Molded Grab Handles
* Maintenance Kit

* Non-Skid Deck
* Oarlocks (not included on 12VS, 13VS, 14VS)
* Oars (not included on 12VS, 13VS, 14VS)

* Orca Hypalon Five Coated Fabric
« Owner's Manual
* Removable Fiberglass Seat
* Transom Protector
» Paddles (12VS, 13VS, 14VS only)

Ins. Ins.

Model Length Beam Length Beam
8VSs 8 6" 5 4n. 5 . 2 6"

2.60m 1.63 m 1.74m 0.77m

Vs 96" 5 5. 6 9"- o g

290 m 1.66 m 2.05m 0.82m

10VS 10' 6"- 5'5"- 77" 2'8"-
3.19m 1.66 m 2.30m 0.82m

12VS 12'0"- 5'9"- 8'9"- 2'9"-
3.60m 1.75m 2.67m 0.83m

13VS 13'0"- 6'2"- 9'9"- 3'2"-
3.95m 1.89m 297 m 0.97m

14VS 14'0"- 6'4"- 10'10"- 3'3"-
430 m 1.94m 3.30m 0.98 m

Internal
Area

13.8 sq.ft.-

1.3 m?

18.1 sq.ft.-

1.7 m?

20.3 sq.ft.-

1.9m?

23.8 sq.ft.-

22 m?

31 sq.ft.-

2.9 m?

34.8 sq.ft.-

3.2m?

Weight

125Ib - 57kg

143Ib - 65kg

169Ib - 77kg

198lb - 90kg

279Ib - 127kg

323Ib - 147kg

Max
Person Tube

Cap. Diameter
4 16"-0.40m
5 17"-0.43m
5 17"-0.43m
6 18"-0.46 m
7 18"-0.46 m
8 19"-0.48m

Shaft
Length

15"

15"

15"

15"

20"

20"

Max
Weight
Cap.

928 Ib-
422 kg

1019 Ib-

463 kg

1230 Ib-

559 kg

1628 Ib-

740 kg

1789 Ib-

813 kg

2145 Ib-

975 kg

Rec
HP

8 hp-
6 kw

9.9 hp-
7.4 kw

15 hp-
11.2 kw

20 hp-
14.9 kw

30 hp-
22.4 kw

40 hp-
29.8 kw

Max
HP

10 hp-
7.5 kw

15 hp-
11.2 kw

25 hp-
18.7 kw

30 hp-
22.4 kw

40 hp-
29.8 kw

50 hp-
37.3 kw

No.

Air

Cha.

3+1

3+1

3+1

3+1

3+1

4+1

Optional Equipment:

» Boat Cover
* Bow Hatch Cushion

* Bow Step with Fold Down S/S Mooring Cleat

* Engine
* Fiberglass Lateral Step with s/s. Cleat






NAVIGO 10 VS

8500900000320
ASIENTO FIBRA DE VIDRIO
FIBERGLASS SEAT

85014-00000133
0JO DE AMARRE 3/8% 2 34"
UBOLT 318" x 2 3/4"

85038-00000021
‘TUBO PARA TAPON 62mm
TUBEFORPLUGE2mM

‘ 85076-00000008

85031-00002110 TAPADE PROA
‘GANCHO PARA CANALETE Ay
RUBBER PADDLE HOLDER BASE DE TELAPA

85030-00000040

PLANT VIEW
NOTA: FAVOR INDICAR COLOR DEL BOTE AL ORDENAR / NOTE: MUST INDICATE BOAT COLOR WHEN ORDERING




REV. 1

NAVIGO 13 VS

80040-00001110

85027-00000010
MANILLA DE GOMA
RUBBER HANDLE

85029-00001110
PERFIL DE BORDA
RUB RAIL

LONGITUDINAL PROFILE

85009-00000321
ASIENTO FIBRA DE VIDRIO
FIBERGLASS SEAT

85027-00000010
MANILLA DE GOMA
RUBBER HANDLE

85014.00000133
0JO DE AMARRE 3/8" 2 34"
UBOLT 3/8" x 234"

85038-00000022
TUBO PARA TAPON 153 mm
TUBE FOR PLUG 153 mm

85030-00000040
GANCHO PARA CANALETE
RUBBER PADDLE HOLDER

PLANT VIEW

8502700000010
MANILLA DE GOMA
RUBBER HANDLE

85014-00000133
0J0 DE AMARRE
318" 234"

UBOLT 3/8" x 234"

85026-00001110
MANILLA TEJIDO DOBLE
DOUBLE TISSUE HANDLE

85014-00000133
0JO DE AMARRE 3/8" 2 34"
UBOLT 3/8" x 234"

88099-00001000

88060-00000012
BISAGRA 6 HUECOS 901180
HINGE 6 HOLE 90/180

85076-00000010
TAPA DE PROA
BOW HATCH

RUB RAIL

8502700000010
MANILLA DE GOMA
8502900001110 RUBBER HANDLE
PERFIL DE BORDA —
RUB RAIL

85014-00000133
0JO DE AMARRE
8% 2 314"

UBOLT 3/8" x 2 314"

FORE VIEW

85010-00008579
PLACA EXTERNA GRIS GRANDE
RUBBER GREY LARGE
EXTERNAL ENGINE PLATE

85027-00000010
MANILLA DE GOMA
RUBBER HANDLE

85029-00001110
PERFIL DE BORDA

85014-00000133
85038-00000011 0JO DE AMARRE
TAPON DE CONDENSACION 38"x 234"

UBOLT 3/8" x 234"
CONDENSATIONPLUG  geoss 00000022
TUBO PARA TAPON 153 mm

‘TUBE FOR PLUG 62mm

AFT VIEW

NOTA: FAVOR INDICAR COLOR DEL BOTE AL ORDENAR / NOTE: MUST INDICATE BOAT COLOR WHEN ORDERING

REV. 1

NAVIGO 14 VS

80040-00001210

8502700000010
MANILLA DE GOMA
RUBBER HANDLE

85014-00000133
0J0 DE AMARRE

85029-000014210
PERFIL DE BORDA
RUB RAIL

LONGITUDINAL PROFILE

85027-00000010
MANILLA DE GOMA
RUBBER HANDLE

85009-00000321
ASIENTO FIBRA DE VIDRIO
FIBERGLASS SEAT

85014-00000133
0JO DE AMARRE 3/8"x 2 34" _
UBOLT /8" x 234" -

85033-00000022
TUBO PARA TAPON 153 mm
TUBE FOR PLUG 153 mm

85026-00001110
MANILLA TEJIDO DOBLE
DOUBLE TISSUE HANDLE

85030-00000040

8% 2 3
UBOLT /8" x 2 314"

85026-00001210
MANILLA TEJIDO TRIPLE
TRIPLE TISSUE HANDLE

85014-00000133
0JO DE AMARRE 3/8" 2 34"
U BOLT 3/8" x 234"

88099-00001000
L0GO AB
ABLOGO

88060-00000012
BISAGRA 6 HUECOS 90/180
| HINGE 6 HOLE 90/180
8507600000010

TAPA DE PROA|

BOW HATCH

GANCHO PARA CANALETE
RUBBER PADDLE HOLDER

PLANT VIEW

RUBBER HANDLE

85027-00000010
MANILLA DE GOMA
RUBBER HANDLE

8502700000010 85029-00001410
MANILLA DE GOMA PERFIL DE BORDA

RUB RAIL

ssntLanm 33

0JO DE AMARRE
38 2 314"
UBOLT 3/8" x 2 314"

FORE VIEW

85010-00008579
PLACA EXTERNA GRIS GRANDES
RUBBER GREY BIG

EXTERNAL ENGINE PLATE

85027-00000010
MANILLA DE GOMA
RUBBER HANDLE

85029-00001410
PERFIL DE BORDA
RUB RAIL

85038-00000011

TAPON DE CONDENSACION 8501400000133

CONDENSATION PLUG 2503800000022 0JO DE AMARRE
38 2 314"

TUBO PARA TAPON 153 mm
‘TUBE FOR PLUG 153 mm

AFT VIEW

UBOLT 3/8" x 234"

NOTA: FAVOR INDICAR COLOR DEL BOTE AL ORDENAR / NOTE: MUST INDICATE BOAT COLOR WHEN ORDERING






